R07.3

(m)
1 0.0k + 64m
0.0k
2 2,985
3.0k
0.0k
3 1,198
1.1k + 100m
4 1.3k + 47m
2.0k - 150m
5 1,172
2.8k + 150m
3.3k - 50m
6 150
3.3k + 100m
3.3k + 100m
651
. 4.0k + 100m
3.3k + 100m
651
4.0k _+ 100m
4.0k - 40m
8 372
4.2k + 120m
4.0k + 100m
9 642
4.6k + 100m
4.6k + 100m
7,728
" 12.4k + 100m
4.6k + 100m
7,728
12.4k + 100m
5.3K
1 401
5.7k - 40m
12 6.6k + 144m
6.8k - 70m
13 30
6.8k - 40m
12.4k + 100m
14 1,374
13.7k + 150m
13.7k + 150m
168
5 14.0k + 100m
13.7k + 150m
168
14.0k + 100m
14.0k + 100m
16 1,004
14.8k + 150m
14.8k + 40m
17 197
15.1k + 100m
14.8k + 150m
1,219
18 16.2k + 100m
14.8k + 150m
1,219
16.2k + 100m
15.1k + 100m
19 328
15.3k + 210m
0.0k
1,383
% 1.3k + 100m
0.0k
1,383
1.3k + 100m
0.0k
21 3,046
3.0k
1.3k + 100m
2 3,138
4.4k + 100m
2.4k - 50m
23 624

.8k




R07.3

(m
2.8k
24 134 A
2.8k _+ 134m
4.8k - 100m
25 283 B
5.1k
5.3k
26 50 B
5.3k 50m
5.3k + 100m
27 208 B
5.5k _+ 100m
5.3k + 140m
28 128 B
5.5k 60m
9.1k + 100m
926 B
29 10.0k + 100m
9.1k + 100m
926 B
10.0k + 100m
11.5k - 110m
30 339 B
11.7k + 114m
12.0k + 100m
31 1,609 B
13.7k_+ 150m
15.1k - 150m
32 449 B
15.3k _+ 100m
15.1k
33 1,696 B
16.6k + 140m
17.7k 50m
34 180 B
18.0k 50m
A= 1,090m 05
B= 26,973m 35
= 26,973m 40
1,090 1,090 0 0 0
25,883 3,492 14,241 21,033 6,031




RO7.3

(

(m
15.1K

381 <7
15.5k - 45m
18.0k - 150m

150 sa4
18.0k
2.4k - 110m

200
2.4k +_90m
10.0k + 9in
12.6k + 97n
18.0k + 30m




